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B1-2 | 1.013 .50 | 110 | 0.817 | 0.017 | 0.346 | 0.336 | 0.471 | 0.414 | 0.414 | 240 1 0. 60 2 1 1 1
B1-3 | 1.018 250 | 3.10 | 1.457 | 0.047 | 0.638 | 0508 | 0.819 | 1.168 | 1.168 | 3.40 1 0. 85 2 1 1 1
BI-4 | 1.023 350 | 5.10 | 2103 | 0.077 | 0929 | 0.681 | 1.174 | 1.924 | 1.924 | 4.40 2 1.10 2 1 1 1
B1-5 | 1.028 450 | 710 | 2758 | 0107 | 1.222 | 0.853 | 1.536 | 2.682 | 2.682 | 5.40 2 1.35 ? 1 1 1
B1-6 | 1.033 550 | 9.10 | 3.418 | 0.138 | 1.512 | 1.025 | 1.906 | 3.443 | 3.443 | 6.40 2 1.60 2 1 1 1
B1-7 | 1.038 6.50 | 11.10 | 4.088 | 0.168 | 1.805 | 1.198 | 2.283 | 4.205 | 4.205 | 7.40 2 .85 ? 1 1 1
B1-8 | 1.043 750 | 13.10 | 4764 | 0199 | 2097 | 1.370 | 2.667 | 4.969 | 4.969 | 8.40 3 2.10 ? 1 1 1
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(m) (m) (m) (m3) (m3) (m3) (m3) (m3) (m2) (m2) (m) (&) | L=40n (K) (AK)
C1-1 1.008 0.50 - 0.187 - 0.057 0. 164 0.130 - - 1.40 1 0.35 1 1
C1-2 1.013 1.50 1.10 0.817 0.017 0.346 0.336 0. 471 0.414 0.414 2. 40 1 0.60 1 1
C1-3 1.018 2.50 3.10 1.45] 0.047 0.638 0.508 0.819 1.168 1.168 3. 40 1 0.85 1 1
C1-4 1.023 3.50 5.10 2.103 0.077 0.929 0. 681 1.174 1.924 1.924 4. 40 2 1.10 1 1
C1-5 1.028 4.50 1.10 2. 158 0.107 1.222 0. 853 1.536 2. 682 2. 682 5.40 2 1.35 1 1
C1-6 1.033 5.50 9.10 3.418 0.138 1.512 1.025 1.906 3. 443 3. 443 6. 40 2 1.60 1 1
C1-7 1.038 6. 50 11.10 4.088 0.168 1.805 1.198 2.283 4.205 4.205 1.40 2 1.85 1 1
C1-8 1.043 7.50 13.10 4.764 0.199 2.097 1.370 2.667 4.969 4.969 8.40 3 2.10 1 1
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(m) (m) (m) (m3) (m3) (m3) (m3) (m3) (m2) (m2) (m) (@) |40 (K] (K) (@) |L=0.8n (K) | (K)
DI-1 | 1.008 0. 50 - 0,187 - 0.057 | 0.164 | 0.130 - - 1,40 1 0.35 2 1 1 1
DI-2 | 1.013 1.50 | 110 | 0817 | 0017 | 0346 | 0.336 | 0471 | 0414 | 0414 | 240 1 0. 60 2 1 1 1
DI-3 | 1.018 250 | 3.10 | 1.457 | 0047 | 0638 | 0508 | 0.819 | 1.168 | 1.168 | 3.40 1 0. 85 2 1 1 1
D1-4 1.023 3.50 5.10 2.103 0.077 0.929 0. 681 1.174 1.924 1.924 4. 40 2 1.10 2 1 1 1
D1-5 1.028 4.50 1.10 2. 7158 0.107 1.222 0.853 1.536 2. 682 2. 682 5.40 2 1.35 2 1 1 1
D1-6 1.033 5.50 9.10 3. 418 0.138 1.512 1.025 1.906 3. 443 3. 443 6. 40 2 1.60 2 1 1 1
D1-7 1.038 6. 50 11.10 4.088 0.168 1.805 1.198 2.283 4.205 4.205 1.40 2 1.85 2 1 1 1
DI-8 | 1.043 7.50 | 1310 | 4.764 | 0.199 | 2007 | 1.370 | 2.667 | 4.969 | 4.969 | 8.40 3 2.10 2 1 1 1
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